MATHS

BOOKS - MBD NCERT SOLUTIONS

CO-ORDINATE GEOMETRY

Multiple Choice Questions

1. Point P(6, — 4) lies in which quadrant?

A. First



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8SRR55AzEfTn

B. Second

C. Third

D. Fourth.

Answer: D

o Watch Video Solution

2. Coordinates of midpoint of line joining two

points ( — 1,7) and (4, — 3) are:

(39


https://dl.doubtnut.com/l/_8SRR55AzEfTn
https://dl.doubtnut.com/l/_KVFBFDmlU0CF

Answer: B

o Watch Video Solution

3.Point Q( — 3, — 4) lies in which quadrant?

A. First

B. Third


https://dl.doubtnut.com/l/_KVFBFDmlU0CF
https://dl.doubtnut.com/l/_ZabxR4MpA0c2

C. Second

D. Fourth.

Answer: B

° Watch Video Solution

4. Coordinates of midpoint of line joining two

points ( — 5,7) and (5, — 7) are:


https://dl.doubtnut.com/l/_ZabxR4MpA0c2
https://dl.doubtnut.com/l/_4A0iLEp2uHay

Answer: B

° Watch Video Solution

5. Point P(3, 4) lies in which quadrant?

A. First
B. Second

C. Third


https://dl.doubtnut.com/l/_4A0iLEp2uHay
https://dl.doubtnut.com/l/_dmRtSFxJZd8H

D. Fourth.

Answer: A

° Watch Video Solution

6. Coordinates of midpoint of line joining two
- 5 —3 q -5 3 .
points 7, T an T, 5 are :
A. (5, —3)

o (53
\147 4

c. (0, 0)


https://dl.doubtnut.com/l/_dmRtSFxJZd8H
https://dl.doubtnut.com/l/_5KgOcgw9iBVY

D. None of these

Answer: C

o Watch Video Solution

7.Point P( — 3, — 4) lies in which quadrant?

A. First
B. Second
C. Third

D. Fourth.


https://dl.doubtnut.com/l/_5KgOcgw9iBVY
https://dl.doubtnut.com/l/_5yG0b7Y3DzDb

Answer: C

o Watch Video Solution

8. Find the coordinates of that point, which is
the line segment joining points ( — 1, 7) and
(4, — 3) in the ratio of 2: 3.

A (1, 3)

B.(—1,3)


https://dl.doubtnut.com/l/_5yG0b7Y3DzDb
https://dl.doubtnut.com/l/_JWHpAzZb6HG9

Answer: A

o Watch Video Solution

9. The distance of point (5, — 7) from origin

IS :

A /T4

C.2

D. 12


https://dl.doubtnut.com/l/_JWHpAzZb6HG9
https://dl.doubtnut.com/l/_wRD1qlWNniuc

Answer: A

o Watch Video Solution

10. Find the area of a triangle whose vertices

are (1,-1),(-4,6)and (-3,-5).(AS)

N
© 2

B.8
C.24

D. None of these


https://dl.doubtnut.com/l/_wRD1qlWNniuc
https://dl.doubtnut.com/l/_8Zpx6CNrJ36s

Answer: C

o Watch Video Solution

11. The distance of point ( — 4, 5) from origin
is :

Al

B.9

C. /41

D. None of these


https://dl.doubtnut.com/l/_8Zpx6CNrJ36s
https://dl.doubtnut.com/l/_20eJ0ax2tbg9

Answer: C

o Watch Video Solution

12. The area of the triangle formed by joining
the points ( — 5,3)(6, —2) and ( — 3,4) is:
A. 15
B.30
C.10.5

D. None of these


https://dl.doubtnut.com/l/_20eJ0ax2tbg9
https://dl.doubtnut.com/l/_eJG3iHp5cANP

Answer: C

o Watch Video Solution

13. The distance of point ( — 5, 12) from origin
is :

A 13

B.17

C.7

D.6


https://dl.doubtnut.com/l/_eJG3iHp5cANP
https://dl.doubtnut.com/l/_D4hrFdBA7u2j

Answer: A

o Watch Video Solution

14. Find area of triangle formed by the points

A(5;2);B(4;7) and C (7;-4)

A. 57 sq units

B. 2 sq units

C.0

D. None of these


https://dl.doubtnut.com/l/_D4hrFdBA7u2j
https://dl.doubtnut.com/l/_LqYty7Lj3bfk

Answer: D

o Watch Video Solution

15. The distance of the point P(3, — 4) from

the origin is

B.1
C.5

D.7


https://dl.doubtnut.com/l/_LqYty7Lj3bfk
https://dl.doubtnut.com/l/_qONNTFgSSXm8

Answer: C

o Watch Video Solution

16. The area of triangle formed by joining
(2,3),(—1,0) and (2, —4)is:

A 21

B.10.5

C.0

D. None of these


https://dl.doubtnut.com/l/_qONNTFgSSXm8
https://dl.doubtnut.com/l/_vzy2JZLU5rXz

Answer: B

o Watch Video Solution

17. The distance between

P(x,y) and Q(0, 0) will be:

A. z? +y2
B. 1 /22 — o
C.\/x? + o2

the

points


https://dl.doubtnut.com/l/_vzy2JZLU5rXz
https://dl.doubtnut.com/l/_WhAywmnw8wOm

Answer: C

o Watch Video Solution

18. The midpoint of the line segment joining

the points ( — 4, 3) and (8, — 5) is:

A (—12,8)
B. (4, — 2)
C.(—21)


https://dl.doubtnut.com/l/_WhAywmnw8wOm
https://dl.doubtnut.com/l/_5YLafIZsRWHI

Answer: D

o Watch Video Solution

19. The co - ordinates of midpoint of the points
(—3,4)and (1, — 2) are:

A (1, —2)

B.( —2,3)

C.(2,1)


https://dl.doubtnut.com/l/_5YLafIZsRWHI
https://dl.doubtnut.com/l/_Vae5d5FTizdf

Answer: A

o Watch Video Solution

20. The distance between the points (0, 0) and

(—6,8)is:

A.2

B.10

D.8


https://dl.doubtnut.com/l/_Vae5d5FTizdf
https://dl.doubtnut.com/l/_ZhHRZK23nCWe

Answer: B

o Watch Video Solution

21. If the points A(2, 3), B(4, k) and C(6, -3) are

collinear, find the value of k.

B.O

C.1

D. None of these


https://dl.doubtnut.com/l/_ZhHRZK23nCWe
https://dl.doubtnut.com/l/_tGUdQZ4UtfKm

Answer: B

o Watch Video Solution

22. Find the point on the z-axis which is

equidistant from (2, — 5) and ( — 2, 9).

A(—17,0)


https://dl.doubtnut.com/l/_tGUdQZ4UtfKm
https://dl.doubtnut.com/l/_Gdowo6kYZVUs

Answer: A

o Watch Video Solution

23. Find the distance between the points
P(—6,7) and Q( — 1, — 5)

A. /13

B.13

C. /119

D. —13.


https://dl.doubtnut.com/l/_Gdowo6kYZVUs
https://dl.doubtnut.com/l/_i4OFc1twvRLd

Answer: B

o Watch Video Solution

24. The distance of a point from the y-axis is

called its x-coordinate or

A. Abscissa

B. Ordinate

C. Origin

D. None of these


https://dl.doubtnut.com/l/_i4OFc1twvRLd
https://dl.doubtnut.com/l/_RHamKXh2k9mz

Answer: B

o Watch Video Solution

Very Short Answer Type Questions

1. Find the distance between the points (2, 3)

and (4, 1).

o Watch Video Solution



https://dl.doubtnut.com/l/_RHamKXh2k9mz
https://dl.doubtnut.com/l/_STR7rvnyQs26

2. Find the midpoint of the line joining the

points (7,6) and ( — 3, — 4).

o Watch Video Solution

3. Find the distance between the points

(—5,7) and ( — 1, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_iyikdfAdRU1B
https://dl.doubtnut.com/l/_3Hfp20Qy67ic

4. Find the midpoint of the line joining the

points (3,4) and (5, 2).

o Watch Video Solution

Short Answer Type Questions

1. Find the ratio in which the y-axis divides the
line segment joining the points (5, — 6) and
(—1, —4).Also,find the coordinates of the

point of division.

| e |


https://dl.doubtnut.com/l/_2GtLSHpjgTSp
https://dl.doubtnut.com/l/_IipksAPcHHIn

& Wwatch Video Solution I

2. Find the ratio in which the line joining
(5, —6) and ( — 1, —4) is divided by x -
axis. Also find the coordinates of the point of

intersection.

o Watch Video Solution

3. Find the ratio is which the line joining

A(1, —5) and B( —4,5) is divided by x -


https://dl.doubtnut.com/l/_IipksAPcHHIn
https://dl.doubtnut.com/l/_kHqCgkxLgka3
https://dl.doubtnut.com/l/_8KmKOuGF7V4U

axis. Also find the coordinates of the point of

intersection.

° Watch Video Solution

4. Find the ratio in which the line joining
(3,4) and ( — 4, 7) is divided by y - axis. Also
find the coordinates of the point os

intersection.

o Watch Video Solution



https://dl.doubtnut.com/l/_8KmKOuGF7V4U
https://dl.doubtnut.com/l/_dfDZZ36qg7cD

5.1f (1, 2), (4, ), (x, 6) and (3, 5) are the vertices

of a parallelogram taken in order, find x and y.

° Watch Video Solution

6. Find the coordinates of a point A , here AB

is a diameter of the circle whose centre is

(2, —3)and B(1, 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_SaX2NyTavO06
https://dl.doubtnut.com/l/_19qthLf5G1Nc

7. Find the point on the x -axis which is

equidistant from (2, — 5) and ( — 2,9)

o Watch Video Solution

8. Find the co - ordinates of the point which
divides the join (1,7) and (4, — 3) in the

ratio 2: 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_xfCN5BFarYzO
https://dl.doubtnut.com/l/_IKf1y7uheYbW

9. Find the ratio in which the line segment
joining the points (-3, 10) and (6, -8) is divided

by (-1, 6).

o Watch Video Solution

10. Find the values of y for which the distance
between the points P(2, — 3) and Q(10, y)

is 10 units.

o Watch Video Solution



https://dl.doubtnut.com/l/_9NjFtAXaupV4
https://dl.doubtnut.com/l/_8P21js3b2VMF
https://dl.doubtnut.com/l/_jmVQaFVXvYsz

1. Find the coordinates of the points of
trisection of the line segment joining the

points (2,-2) and (-7,-4)

o Watch Video Solution

12. Find the co - ordinates of the points of
trisection of the line segment joining (4, — 1)

and ( — 2, — 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_jmVQaFVXvYsz
https://dl.doubtnut.com/l/_GjSah1y7EfE7
https://dl.doubtnut.com/l/_ZbxhsLDF8u02

13. Find a relation between x and y such that
the point (z, y) is equidistant from the

points (3, 6) and ( — 3, 4)

o Watch Video Solution

14. Find the value of k for which the points

(7, —2),(5,1) and (3, k) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZbxhsLDF8u02
https://dl.doubtnut.com/l/_SqyhgUdurRYi

15. Determine if the points (2, 3), (4,0) and

(6, — 3) are collinear

o Watch Video Solution

16. Find the value of k if the points
A(8,1), B(k, —4) and C(2, — 5) are

collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_KnXeQpsVrCqE
https://dl.doubtnut.com/l/_b8sJue5AuBa2

17. Find the area of a triangle whose vertices

are (1,-1),(-4,6)and (-3,-5).(AS)

o Watch Video Solution

18. Find the area of triangle whose vertices are

(—15,3),(6, —2) and ( — 3,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_MdGqgqYdKHO3
https://dl.doubtnut.com/l/_9rL22fcFm7cn

